> A
A & 0l & AF 2 E A A
20198 = =04t LB 2EALS ~ dEHE=
AR pgAL= SN BEEED
M M XG0l 20T A= M3 2HE
ool NREYH 51 (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
o8 HE= 199,378,074 182,163, 349 17,214,725
= 7,994,754
s 50,354,817
N 500,000
< 140,528,503
fag=—R-—gainiy 59,016,588 65,103,502 26,086,914
= 200,000
s 21,815,817
EN 150,000
< 36,850,771
& XG0l 21T FMsE Atz A4 3,294,000 2,499,600 794,400
= 200,000
< 3,094,000
NAgeed =4 2,850,000 2,219,600 630,400
= 200,000
=) 2,650,000
NLEXN+=ERARS 29 15,600 15,600 0
201 Let24E] 15,600 15,600 0
01 At 22l 15,600 15,600 0
OEXN+EMZ 48 9% U 9N 29 15,600
MESHAE HEAEY 2,634,400 2,104,000 530,400
403 A X EHHS =0l A 2,634,400 2,104,000 530,400
01 X SHHXN2E = 2,634,400 2,104,000 530,400
OMEESHAIL HLAY 2,634,400
S0 FHIY S XNEAY =& 200,000 100,000 100,000
= 200,000
403 MHXSHHSA=0l& 200,000 100,000 100,000
= 200,000
01 HXSHMA=LE X 200,000 100,000 100,000
OFstdlz S+ FEHISA NI AMY 200,000
= 200,000
[ K& SAIHE =8 366,000 202,000 164,000
SAHE =g 2435 2,000 2,000 0
201 Let24E] 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
OEAMA=ARE 29 2,000
SAAEEEMAH SN2+ 14,000 0 14,000
201 et 14,000 0 14,000
02 2324l 14,000 0 14,000
OZAMAHEFEMA(UPIS) KNE= 14,000
HESA = FAZAHE S2S+E 350,000 0 350,000




M ox
40 5 4

- _ _ RE]

AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
207 S0 & 350,000 0 350,000
01 | 350,000 0 350,000

OHETZ Al =8 A AHE 25+ 350,000
OYYN FTRE 24X 78,000 78,000 0
O8N F=TQF0 H2FA 41,000 41,000 0]
203 R F & 41,000 41,000 0
03 AIZH =X 2 F X H| 41,000 41,000 0
O78YeN =R 42X 41,000
oEHUNAL2 =X 37,000 37,000 0
201 et | 33,000 33,000 0
01 AP 22| H| 33,000 33,000 0
OgBtd A= 2| 33,000
202 044l 4,000 4,000 0
01 2Ll 4,000 4,000 0
OXEMHLAIY & AR =& 4 H| 4,000
DXl X Eoe 23,585,817 32,461,300 N8,875,483
Fag 21,815,817
N 150,000
& 1,620,000
NS =sx 23,435,817 30,011,300 NB,575,483
= 21,815,817
= 1,620,000
NS X & 8,698,000 11,326,000 N 2,628,000
g 8,698,000
403 XX SHHS K20 A& 8,698,000 11,326,000 AN 2,628,000
g 8,698,000
01 XIS AES2E X 8,698,000 11,326,000 AN 2,628,000
OYd=E=NE XEIMLASE 8,698,000
= 8,698,000
NE4+2 UASXSIAY 1,804,000 3,098,000 A1,294,000
= 1,804,000
403 XX SHHS K20 & 1,804,000 3,098,000 A 1,294,000
Fag 1,804,000
01 XIS A=Z2E X 1,804,000 3,098,000 A 1,294,000
OX<Y % EL==DNE PN ! 1,804,000
g 1,804,000
ENLEXF XS 1,900,000 5,259,000 A 3,359,000
g 1,900,000
403 XX S M S K201 A 1,900,000 5,259,000 A 3,359,000
Fag 1,900,000
01 AXESHIE2E X 1,900,000 5,259,000 N 3,359,000




AR BEALR SN RS
g g H XNEHe
@2 XNFHE=EA (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OFXREEX T XJAAS 1,900,000
s 1,900,000
HEXLD JIEHAIE XI&ALS 7,350,000 8,000,000 A 650,000
as 5,850,000
< 1,500,000
403 UtXISHH S0l & 7,350,000 8,000,000 A 650,000
s 5,850,000
< 1,500,000
01 XM A=2EE 7,350,000 8,000,000 A 650,000
OHBX A JIEHAIE X& A 7,350,000
s 5,850,000
< 1,500,000
HEHE 2 FAUXJAS 3,535,617 2,258,200 1,277,417
s 3,535,617
403 A X EHS =0l A 3,535,617 2,251,000 1,284,617
s 3,535,617
01 X EHHM A= LE L 3,535,617 2,251,000 1,284,617
OMLHs 7 FUXAAS (AEHXH) 3,535,617
s 3,535,617
Herst 222 (%) 5,000 4,000 1,000
s 5,000
202 O4dl 5,000 4,000 1,000
s 5,000
01 =L 4 Hi 5,000 4,000 1,000
Ot 2tel ol 5,000
s 5,000
WL RSBt 2 el (AlT) 23,200 21,100 2,100
as 23,200
308 XXM SOIA 23,200 21,100 2,100
s 23,200
01 AXHHILEES 23,200 21,100 2,100
O et 2ell 23,200
s 23,200
C H4ExEE & 2ol 120,000 20,000 100,000
401 AIEHI L 201 120,000 20,000 100,000
01 A& HI 120,000 20,000 100,000
Okt ddAx"g=2 s ®A E= 20,000
O #4ZXES CXY &#AF 100,000
S AN 2tel 150,000 2,450,000 A 2,300,000
EN 150,000
A2 BSAE et & ALY 150,000 250,000 A 100,000
EN 150,000
403 MtXISHH S X201 & 150,000 250,000 A 100,000
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=
P
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1%

2

3 M A

20198 = =04t LB 2EALS ~ dEHE=
4= pHALR SN E2D
M Helotld otME E2 2=
& XeEe2 2el (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
S22 103,626,172 95,474,929 8,151,243
s 19,849,000
N 350,000
= 83,427,172
Heldtn etEE S 2d RH 79,893,582 71,351,926 8,541,656
s 19,849,000
EN 350,000
< 59,694,582
gz 2e 140,582 134,926 5,656
ANLE NS T A 71,000 65,344 5,656
401 AIEHI L 20 71,000 0 71,000
01 A& HI 71,000 0 71,000
OXNgE WsSsXA 71,000
g9 2el 69,582 69,582 0
308 MtXIEHSOIH 69,582 69,582 0
01 HXNHHBHELS 69,582 69,582 0
OXNge 3&729 2e| 69,582
NSt S AN AL 3,243,000 1,472,000 1,771,000
s 2,893,000
N 350,000
WSMD 2 HEAY 588,000 95,000 493,000
s 588,000
403 UHXSHHSA=0l& 588,000 95,000 493,000
s 588,000
01 X SHMA2E X 588,000 95,000 493,000
Ous At 2= e ALY 588,000
s 588,000
Helol 25729 ALY 955,000 270,000 685,000
ras 955,000
403 MtXISHHE X201 & 955,000 270,000 685,000
as 955,000
01 X SHHA=2E = 955,000 270,000 685,000
O0eol Esa49 Ha A 955,000
s 955,000
QM B ElEH T HAY 650,000 600,000 50,000
s 650,000
403 A X EHHS =0l A 650,000 600,000 50,000
s 650,000
01 AXSHHMA2E = 650,000 600,000 50,000
OQtdst Bl sy TAAY 650,000
s 650,000
MEA OHEZ ZHAMY 150,000 367,000 A 217,000




42 pEALR A =20
M Helotld otME E2 2=
CHel: XD EOHH B N & ALY (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
E 150,000
403 MtXISHHSA=0l& 150,000 367,000 A 217,000
N 150,000
01 XM A2E X 150,000 367,000 A 217,000
OMad 0lHE=Z HUIAY 150,000
EN 150,000
MW E XA 700,000 140,000 560,000
s 700,000
403 UtXISHH S X201 & 700,000 140,000 560,000
as 700,000
01 AXISHHA2E = 700,000 140,000 560,000
OdNIZE EX A 700,000
s 700,000
2SS ALY 200,000 0 200,000
N 200,000
403 A X EHS =0l A 200,000 0 200,000
EN 200,000
01 X HHMA=ZLE X 200,000 0 200,000
OkLeEs 39 HAAEY 200,000
EN 200,000
A2 RARMH 416,000 600,000 A 184,000
s 416,000
FIEEZ 2XMHEAY 416,000 600,000 A 184,000
s 416,000
403 Mt SHHSA=0l& 416,000 600,000 A 184,000
s 416,000
01 HXSHMA2E X 416,000 600,000 A 184,000
ORAE T2 AZMHLASE 416,000
s 416,000
SN XL = F ALY 26,628,000 25,257,000 1,371,000
as 16,540,000
=) 10,088,000
L2-EEFIC 2XNE A4 3,566,000 13,829,000 A 10,263,000
s 2,496,000
=) 1,070,000
401 A& HIZ 2018 3,566,000 13,829,000 A 10,263,000
s 2,496,000
=) 1,070,000
01 A& HI 2,859,000 13,673,500 A 10,814,500
Ok2-=&=FI1C I NH4 2,859,000
s 2,001,000
< 858,000
02 Zeltl 707,000 150,000 557,000
Ok2-2&=FIC 2XNcAHd 707,000




A= ZEAALAZ M =21
HH: Hel5l] OME TRY 1S
CHRl: 2N AR e E T IAS (2 &HH)
2 . - 4 14
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 795,000
= 212,000
AE-E2 2R HA 14,634,000 5,714,000 8,920,000
Fag 8,844,000
= 5,790,000
401 AlEHI 2L 2 0HY| 14,634,000 5,714,000 8,920,000
- 8,844,000
= 5,790,000
01 Al&H| 14,220,000 5,403,000 8,817,000
OM=-52t 2 X H8(123) 8,200,000
Fag 4,900,000
=} 3,300,000
Oat=-52t 2 X & AL (223F) 6,020,000
Fag 3,654,000
= 2,366,000
02 2teldl| 400,000 300,000 100,000
OM=-52t 2 X HA8(123) 400,000
= 280,000
& 120,000
03 AlE 2 0HH| 14,000 11,000 3,000
OatE-52t 2 & A8 (12FR) 10,000
Fag 7,000
& 3,000
OM=-52t 2 X & HA(22R) 4,000
= 3,000
=} 1,000
Aa-2482 22X A4 7,642,000 5,714,000 1,928,000
= 5,000,000
= 2,642,000
401 AlEH 22 0HHI 7,642,000 5,714,000 1,928,000
g 5,000,000
= 2,642,000
01 Al& H| 7,331,000 5,404,000 1,927,000
o224 =X 4 7,331,000
g 4,782,000
== 2,549,000
02 2teld| 300,000 300,000 0
Oo9zZ2-24 =X& 24 300,000
= 210,000
= 90,000
03 Al 20| 11,000 10,000 1,000
Od2-24 =Xt A4 11,000
Fag 8,000
= 3,000
PHEZ-2FIC BNE A4 786,000 0 786,000
= 200,000




M ox
40 5 4

ML=
S =2

eloty otEst S 2 2=
PR AR Y S & LA ALY

. i SfE|
SA-EY B () - NEAY Ol At o ﬁ}lgﬁ HRE2
= 586,000
401 AlEHIZL £ 0HY| 786,000 0 786,000
Fag 200,000
= 586,000
01 Al&EH| 700,000 0 700,000
2HESE2-QFI|C Z2XNE HE 700,000
g 140,000
& 560,000
02 2teld| 84,500 0 84,500
ORAMEZ-2QFIC Z2XNE HA 84,500
Fag 59,000
= 25,500
03 AlE 21| 1,500 0 1,500
ORAMASZ-2ZIC Z2XNE HE 1,500
= 1,000
= 500
9 2 M| 48,886,000 ,688,000 10, 198,000
A-& XgE SEZEHIZA 6,000,000 ,000,000 A 1,000,000
401 Al HI L £ 0HHI 6,000,000 ,000,000 A 1,000,000
01 Al& H| 6,000,000 ,984,000 A 984,000
OUa-&rd AT S EZA 6,000,000
M-=25 XL SHEEAZA 1,800,000 ,000,000 A 2,200,000
401 Al HI L 2 0HHI 1,800,000 ,000,000 A 2,200,000
01 Al Hl 1,796,000 ,993,000 ~2,197,000
OFRN-SS AU SILEIA 1,796,000
03 AlE 201 Y| 4,000 7,000 A 3,000
OR-2= YT SILEEZA 4,000
8012 X8 E SEZHZA 4,250,000 ,000,000 250,000
401 Al HI L £ 0HHI 4,250,000 ,000,000 250,000
01 Al& H| 4,250,000 ,000,000 250,000
O&F-0IF3 ANYT ESILEZA 4,250,000
Ctet-Eld XS SEEHZA 4,500,000 ,400,000 A 4,900,000
401 AlSHIZ 2 0HYI 4,500,000 400,000 24,900,000
01 Al&H| 4,132,000 ,943,000 A4,811,000
OUE-EHSE AT SLEZA 4,132,000
02 2eldl 365,000 450,000 A 85,000
OCIt-Ee XIE EILEZA 365,000
03 Al& 201 Y| 3,000 7,000 A4 ,000
OUE-EHSE AT S EAZA 3,000
HE-ZTIC NYE SHTHTA 1,800,000 ,600,000 200,000




A= ZEAALAZ 2N E21

M. HE|lotD NS =28 =

e NLE=2 JH| (S &HH)
- _ _ RE]

AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
401 AlEHIZL 2 0HY| 1,800,000 1,600,000 200,000
01 A&l 1,797,000 1,595,000 202,000

OUE-SZIC AT ST HEA 1,797,000
03 A& £ 0HH] 3,000 5,000 A 2,000
OUEB-8ZIC AYE S HBA 3,000
NS DIXZSEX B4 800,000 800,000 0
401 Al HI L 2 0HHI 800,000 800,000 0
01 Al&H| 800,000 800,000 0
OXNsE DIXN=2X 24 800,000
ANz HHAIYE 89 36,000 36,000 0
201 Bt 30,000 30,000 0
02 2224 4| 30,000 0 30,000
OXNgE 42X 21 Kol 30,000
203 € R F=&d| 6,000 6,000 0
03 AIZH =X 2 F XY 6,000 6,000 0
OXNYZAY =& 6,000
Hat-=S0] XN E SIZEHZA 8,000,000 7,000,000 1,000,000
401 Al HI L E0HHI 8,000,000 7,000,000 1,000,000
01 Al& H| 7,993,000 6,993,000 1,000,000
Oist-s0| AT SLEIA 7,993,000
03 AlE 201 Y| 7,000 7,000 0
OUHS-=0| XIE EILEZA 7,000
=H-ZE g SEZEZA 2,500,000 1,400,000 1,100,000
401 Al HI L £ 0HHI 2,500,000 1,400,000 1,100,000
01 Al& b 2,496,000 1,395,000 1,101,000
OXH-ZE NYT SILEIBA 2,496,000
03 Al&E 201 Y| 4,000 5,000 A 1,000
Ox3d-2d YT SILEEZA 4,000
MNE-QA XY ESILEZA 3,000,000 500,000 2,500,000
401 AlEHIZL £ 0HY| 3,000,000 500,000 2,500,000
01 Al&H| 2,995,000 497,000 2,498,000
OAME-QA X E EILEZA} 2,995,000
03 Al 201 Y| 5,000 3,000 2,000
OXNE-Q4F AT SILEZA 5,000
A& S2CF EILAZA 2,500,000 500,000 2,000,000
401 AlEHIZL 201 Y| 2,500,000 500,000 2,000,000
01 Al&H| 2,493,000 497,000 1,996,000
OFfd S=2& 2 EILAZA 2,493,000




432 PEALR A==
M. HE|lotD NS =28 =
e NLE=2 JH| (e H)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
03 Al&E 201 Y| 7,000 3,000 4,000
OfA =22 S IELEHZA 7,000
o2-a4d AT SILEAZA 2,000,000 0 2,000,000
401 AlEHIZL 2 0HY| 2,000,000 0 2,000,000
01 Al& H| 1,993,000 0 1,993,000
O2E-&4 ANy S EZA 1,993,000
03 Al 201 Y| 7,000 0 7,000
O2e-44 AT SILEZA 7,000
H3l-S0| AT SEEHDAH(2Z2R) 2,000,000 0 2,000,000
401 AlEHIZL 2 0HY| 2,000,000 0 2,000,000
01 Al&Hl 1,995,000 0 1,995,000
Ollst-S0| XeE SZXHZAHR2Z2T) 1,995,000
03 Al 201 Y| 5,000 0 5,000
Olfat-=0| XeHE SZIDAHRZ2F) 5,000
EXNSXE HEZ2AH 3,500,000 0 3,500,000
403 XX SHS K201 & 3,500,000 0 3,500,000
01 XS A2E X 3,500,000 0 3,500,000
OLLEXISHAIE IHAE Z A 3,500,000
NA-SH KNS SHILA ZA 3,500,000 0 3,500,000
401 AlEHIZL 2 0HY| 3,500,000 0 3,500,000
01 Al&H| 3,496,000 0 3,496,000
OXNAL-SE KT SILEZA 3,496,000
03 Al& 201 Y| 4,000 0 4,000
OX-S 3 AT SILEZA 4,000
CAadaeHE =8 600,000 0 600,000
401 Al HIZL 2 0HY| 600,000 0 600,000
01 Al&H| 597,000 0 597,000
OLzH&E22HE £ 597,000
03 Al 20| 3,000 0 3,000
OEzH&822HE &8 3,000
EH-IIEs NgE SEEHZA 600,000 0 600,000
401 Al HI L 2 04| 600,000 0 600,000
01 A& H| 597,000 0 597,000
OEZE~IIIE AYT SILEZA 597,000
03 AlE 201 3,000 0 3,000
OEHEH~IIE XYE SILEAEZA 3,000
BHE 2t 2HYE ANT=2A = 48 29 300,000 0 300,000
401 Al HI L £ 0HHI 300,000 0 300,000




432 PEALR A==
M Heloln OFE TRY 7S
& XYE2 FH (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 A& HI 298,000 0 298,000
OUSH DPUE AHT2Y 25 28 8
of 298,000
03 AlE 2 THHI 2,000 0 2,000
OS2 HFUE HAHT2Y 25 28 8
= 2,000
g4~gz= NEE SEZIIA 1,200,000 0 1,200,000
401 A& HI R 201 I 1,200,000 0 1,200,000
01 A& HI 1,197,000 0 1,197,000
Og4s~g=z XL =ET SM 1,197,000
03 A& =2 I 3,000 0 3,000
Og4~3a= NEE SZE ZA 3,000
zE - sSHEZZ FHl 80,000 0 80,000
T SHEZZEHIEIAM 80,000 0 80,000
403 A X EHHS =0l A 80,000 0 80,000
01 X HHX2E= 80,000 0 80,000
O - SHEZZEHIZIIIAM 80,000
25832 gEAEZ2Y 2= 500,000 5,200,000 A 4,700,000
E=2-0132 N SHEIFIA 500,000 3,000,000 22,500,000
401 AIEHIZ 28I 500,000 3,000,000 22,500,000
01 A& Bl 497,000 2,893,000 A 2,396,000
O8=3-0142 XgE SHELEFIA 497,000
03 Al S THHI 3,000 7,000 A 4,000
O8=-0142 XNgx LI IA 3,000
oY 2EGE NGALMY |4 425,000 383,000 42,000
NAAL oY 2435t 3,000 3,000 0
AdpHEds 32 =8 3,000 3,000 0
201 L4l 3,000 3,000 0
01 At 2t 2l 3,000 3,000 0
OA&egy S5 & =ZHH 3,000
SAAHEES=Z FUl 422,000 380,000 42,000
SAHEEZ FHEIAMY 422,000 380,000 42,000
403 XIS E X201 H 422,000 380,000 42,000
01 X SHHN2E = 422,000 380,000 42,000
OZAHEEZ HHIALS 422,000
ME X & 210,000 208,200 1,800
KA B30T 210,000 208,200 1,800
TZANEE FuR 210,000 208,200 1,800




ooox nx
H0 2 H
=
N
~

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 210,000 208,200 1,800
02 8+uR= 210,000 208,200 1,800
Oz AMNESZ 700,000,000 *30% 210,000
HY2AZH (=2 1) 59,540 45,203 14,337
JlE &3l 59,540 45,203 14,337
JlE&l 59,540 45,203 14,337
201 ¢4l 17,740 16,853 887
01 At 22l 17,740 16,853 887
OJl2+=&Hl 7,240
OJle s gl 10,500
202 o4l 37,800 28,350 9,450
01 = LH 4 Hi 37,800 28,350 9,450
o2l 37,800
405 RHoHE S HI 4,000 0 4,000
01 AL EZFH S 4,000 0 4,000
Od| 4,000
Heags(c=zu) 23,038,050 23,486,600 A 448,550
WHEHHX S 23,038,050 23,486,600 A 448,550
LHEHeH X = 23,038,050 23,486,600 A 448,550
705 Ol cl34&E 23,038,050 23,486,600 A 448,550
03 Al - SXNGHEI S0 AI &S 17,520,000 17,520,000 0
O'06 XIS HHIAY 2,300,000
O'07 XY ZFHAY 3,300,000
O'08 XY HUlAL(1XH) 1,000,000
O'08 XL FHIALY (2XH) 1,700,000
O'"10 XY HUl AL (XHEH) 2,000,000
O'"11 XY ZHIAL(1XH) 1,000,000
O'11 XY HUlAL(2X) 1,000,000
O'"11 XSS HulAHL (3X) 850,000
O'12 XYE ZFHAY 620,000
O2LEAA MAZ HE B A 520,000
O'11 @EIAN YR HE 450,000
ZEFUHSDESEZE ER32HH S2EHI(1
xH) 400,000
OSFUEINZSEZ 2329 S=2FHHI(2
xH) 690,000
O'"11 I NHNINLYE SELH 390,000
OE&=F IC~ts =Xk 24 100,000
OJta~23 ZXNE A4 270,000
OXEHw AHASAY (Xt 240,000
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= A
N = 0 & AF S 99 N A
20198 & 20 A LBIGH FEAHE= ~ FEHEZ
AR pgAL= SN DEFH
Nn: pols DEER JBRE
H: 2K SAo HsnsE 4 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
mES=psEini 29,363,065 18,484,775 10,878,290
= 2,654,158
g 8,490,000
= 18,218,907
HE|gh NE=SF JIet2= 29,300,825 18,425,211 10,875,614
= 2,654,158
= 8,490,000
o= 18, 156,667
=X Ao Uzns 84 18,978,412 14,373,623 4,604,789
= 712,440
g 3,850,000
o= 14,415,972
HAHA CTAEX 687,285 345,578 341,707
= 458,190
= 229,095
403 XX S M S X201 A 687,285 345,578 341,707
= 458,190
= 229,095
01 IS A2E X 687,285 345,578 341,707
ONMAHA TEX 687,285
= 458,190
= 229,095
AMAHASSAIE MHEXH 3,512,500 3,400,000 112,500
307 2Iz2t0| & 3,400,000 3,400,000 0
09 2+ HBEXZ 3,400,000 3,400,000 0
OANAHAS2SEAY HEXH 3,400,000
402 SI2F X0l & 112,500 0 112,500
01 BIZtXIEAYE X (KM THK) 112,500 0 112,500
OUHH X+ Xl & 112,500
AMU(SHE)HA 2SAY HEXH 6,016,013 6,016,013 0
308 AMXISHMSOIA 6,016,013 6,016,013 0
01 HXHHIMNEEXTZ 6,016,013 6,016,013 0
OAUW(sSHE)HA 2SAY HEXR 6,016,013
AMHA XS UE X 172,500 160,000 12,500
= 86,250
= 86,250
402 BI2H X 20| M 172,500 160,000 12,500
= 86,250
= 86,250
02 QIZEXIEANSE X (0| XM THL) 172,500 160,000 12,500
OANMAHA R=FSEUS XS 172,500
-HIAMXNSHSEX &= X3 172,500
= 86,250




A= ZEAALAZ SN NEA Y
Nn: pols DEER JBRE
H: 2K SAo HsnsE 4 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
| = 86,250
HIAENd &AEA 612,062 612,062 0
308 AXIEHMSOIA 612,062 612,062 0
01 AIXSHMENEXZ 612,062 612,062 0
OB X La =484 612,062
CANEA 2EHA LN 154,352 96,470 57,882
403 XX SHHS K20 & 154,352 96,470 57,882
01 XIS A2 X 154,352 96,470 57,882
OLLXNEN B2HA K& 154,352
SEYNELC T UAEX 218,400 468,000 A 249,600
= 168,000
& 50,400
403 XX SHHS K20l & 218,400 468,000 A 249,600
= 168,000
& 50,400
01 MXHHXE2E =X 218,400 468,000 A 249,600
OEguNExt T8 X 218,400
= 168,000
& 50,400
AMBHA Hx=2dd AMAMANY A 90,000 90,000 0
207 A O 4| 90,000 90,000 0
01 2 EAH| 90,000 90,000 0
OAHA H AL &AMAMAN 2H 90,000
Al JIEZH =2 K& 337,000 337,000 0
308 XX G SOIA 337,000 337,000 0
01 AIKSHMEAMNEX= 337,000 337,000 0
OQOEAl IIEZHM =22 XN&E 337,000
SE=2H 2 S A 2 1,600,000 1,600,000 0
308 XXIGHM SO0l & 1,600,000 1,600,000 0
11 J|EIRY =2 1,600,000 1,600,000 0
Ogs-H4Yd 5= SCHIX 28 =424 1,600,000
A0S =2 A 2 (sE=E WERY) 871,300 770,000 101,300
g 400,000
o= 471,300
308 MXISHMSOIA 871,300 770,000 101,300
hag 400,000
o=} 471,300
01 AIXSHMENMNEXZ 871,300 770,000 101,300
OANZ20tE =2 2% I(s=8 WED
o) 871,300
g 400,000




AR REALR SN REFIHY
M et nSER JIERE
gl =2X S42 LS 4 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 471,300
ANZ0tE A=A 2L (S3E HAXE) 413,500 360,000 53,500
s 150,000
< 263,500
308 AHXIEHHSOIA 413,500 360,000 53,500
s 150,000
< 263,500
01 HXNHHNBHNEELS 413,500 360,000 53,500
OANZ0tS g=eA 22 NI (B3E UE2
) 413,500
s 150,000
< 263,500
38 HAXRE (sEE ns2g) 3,120,000 0 3,120,000
s 2,400,000
< 720,000
308 A EHHSOIA 3,120,000 0 3,120,000
s 2,400,000
< 720,000
01 HXNHHNBHELS 3,120,000 0 3,120,000
O228 HAXNE (&8 BEY) 3,120,000
as 2,400,000
< 720,000
238 HAXNE(ZANE RE2Y) 1,140,000 0 1,140,000
as 900,000
< 240,000
308 XXM SO0 A 1,140,000 0 1,140,000
s 900,000
= 240,000
01 IXNHHBNEES 1,140,000 0 1,140,000
O338 HA XN (EAE ns2g) 1,140,000
s 900,000
< 240,000
nsAFFA 28,500 28,500 0
201 Let2d] 22,500 22,500 0
01 At 2teltl 22,500 22,500 0
Ot &= ZHl 22,500
202 O4dl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
O=2Jt X5 2% 2= 3,000
203 YR =&l 3,000 3,000 0
03 A Z=AH S =AY 3,000 3,000 0
OQusddgdIFa 3,000
2. ¥ SJ[HX gRFH 5,000 5,000 0
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AR pgAL= SN DEFH
M et nSER JIERE
Sol: B2lotD oHFE NSHY X4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 30,000 30,000 0
1037/ 2S0HUHeB&EEALS I 30,000 30,000 0
O0IHEE dns MetAFOS XY 29 30,000
2NN STZAL SSAMY 19,000 19,000 0
308 XXM SO0l A 19,000 19,000 0
10 B2 S0 BAHAE AR 19,000 19,000 0
OZJtWEXTA SSAML (S A 19,000
I AUHA Y EX 1,780,920 1,093,808 687,112
= 687,285
= 1,093,635
403 XIS S X201 & 1,780,920 1,093,808 687,112
= 687,285
= 1,093,635
01 XXM 22 = 1,780,920 1,093,808 687,112
O&Il AlHA R EX 1,780,920
—HMIIHA B BX 1,780,920
= 687,285
< 1,093,635
HIIHA SHLEH 2= EX 600,000 0 600,000
403 MtXISHH S A0l & 600,000 0 600,000
01 AXISHHA=2E = 600,000 0 600,000
O&IIANUHA SXLH X& 600,000
AEE XY FHAHMEEX FF X 1,124,260 855,280 268,980
= 859,000
< 265,260
402 2I2tXE2 01 & 21,600 0 21,600
= 10,800
= 10,800
02 2IZt 2 AL EZ (OIS ) 21,600 0 21,600
OALIH A 21,600
= 10,800
< 10,800
403 Ut SHHSA=0l& 1,102,660 855,280 247,380
= 848,200
< 254,460
01 XM A=2E X 1,102,660 855,280 247,380
OAILE, MAIHA & 2RSS S 1,102,660
= 848,200
< 254,460
29 HAZEEANAH 25 172,500 254,000 A 81,500
= 172,500
403 XIS E X201 & 172,500 254,000 A 81,500
= 172,500




AZ: RYALR SN DEFH
N @olst WESE JYRE
Chel: H2Istn otMs ns&d =4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 172,500 254,000 A 81,500
O&Y HAZBAAY 2= 172,500
= 172,500
SY=E 2 3EAHNE ™ 200,000 0 200,000
207 RO 200,000 0 200,000
01 2339 200,000 0 200,000
OsEEE ZEEEAHE 28 200,000
M4Xt HAISSE ZASGH N 116,150 0 116,150
= 116,150
308 XX EHHSOIA 116,150 0 116,150
= 116,150
01 X HHILEXS 116,150 0 116,150
OHMA4Xt SHAIS S ZAMEEH X2 116,150
= 116,150
=Xt N X3 1,720,000 0 1,720,000
s 1,720,000
403 MHXSHHSA=0l& 1,720,000 0 1,720,000
s 1,720,000
01 HXSHMA2E X 1,720,000 0 1,720,000
OFxt&d MEX& 1,720,000
s 1,720,000
S SEIDX ALX 2,920,000 0 2,920,000
as 2,920,000
403 MtXISHHE X201 & 2,920,000 0 2,920,000
as 2,920,000
01 XM A=2E X 2,920,000 0 2,920,000
Ozt Xtsi SEX0X ALXA 2,920,000
s 2,920,000
detdl Holg =4 5,383 0 5,383
= 5,383
403 A X EHS =0l A 5,383 0 5,383
= 5,383
01 XXM A2E = 5,383 0 5,383
Od SHAMHDIE =48 At 5,383
= 5,383
HE2HZH (RS 62,240 59,564 2,676
Jl=&l 62,240 59,564 2,676
Jl=dl 62,240 59,564 2,676
201 et 17,740 15,966 1,774
01 At 22/l 17,740 15,966 1,774
OJl=+=EHl 7,240
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10,500
37,800
37,800
37,800
6,700
6,700
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= o
A & 0l & AF 2 E A A
20198 = =04t LB 2EALS ~ dEHE=
Az ZEALER 2M EXNHED
M EXNEHE =5
S9l: DMBIEO XY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
EXNEEH 2,442,425 2,500, 143 AB7,718
= 2,060,596
< 381,829
EXNEE &= 2,386,885 2,447,380 A 60,495
= 2,060,596
< 326,289
DAHGE=ES NHAH 1,694,866 1,929,876 A~235,010
= 1,646,596
< 48,270
KN ETHEAL AL 866,000 1,116,000 A250,000
= 845,000
< 21,000
308 XtXIEHHSOIA 866,000 1,116,000 A250,000
= 845,000
< 21,000
01 X HHILEES 866,000 1,116,000 250,000
OXI & TH = AFAHY 845,000
= 845,000
OXNETEZAAMY =& K& 21,000
ARGe 2 AL HA 6,750 6,750 0
201 Lt 6,750 6,750 0
01 At 22l 6,750 6,750 0
ONEHLBR I HH 6,750
EXNHEEY PRF4 11,200 11,200 0
201 Let24d] 10,000 10,000 0
01 At 2teltl 10,000 10,000 0
OEXNHEZFHRFA 10,000
203 YR =&l 1,200 1,200 0
03 AIMF=XH R =AH| 1,200 1,200 0
OEXNZEBIERFA 1,200
A&z =24 59,490 43,000 16,490
= 59,490
308 XXM SOl A 59,490 43,000 16,490
= 59,490
01 IXNHHBNEES 59,490 43,000 16,490
OXFLUA MHIA XIS 59,490
= 59,490
ALE=HH RAES 6,320 6,320 0
201 Let24d] 6,320 6,320 0
02 2324l 6,320 6,320 0
O/&d=2&H RAES 6,320
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Az ZEALER M EXNFEE
HE: EXNFE 2B
S9l: DMBIEO XY (B9 ®R)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
HESAIXIIE ZA 745,106 746,606 A 1,500
= 742,106
< 3,000
201 £B-2d| 2,000 2,000 0
= 1,000
< 1,000
01 At 22/l 2,000 2,000 0
O= &l 2,000
2 1,000
< 1,000
202 odl 4,000 7,000 A 3,000
2 2,000
< 2,000
01 = LH o4 1l 4,000 7,000 A 3,000
OME S AKX It ZA 4,000
=2 2,000
< 2,000
308 MtXIEHMSOIH 739,106 724,106 15,000
= 739,106
01 AXSHBLELS 739,106 724,106 15,000
OMNE S AR ZA 739,106
= 739,106
2HEFAL BEEZH 193,129 172,614 20,515
SE2HEFAAEANY 138,000 136,000 2,000
403 UHXSHHSA=0l& 138,000 136,000 2,000
01 X SHMA2E X 138,000 136,000 2,000
Ok Zel T2HAE 2 XA 120,000
OZINEHs e XA 18,000
SO EHOE TRAFA =X 7,000 6,000 1,000
201 Let249] 6,000 6,000 0
01 At 22l 6,000 6,000 0
Oz8 #0g 2L g2 6,000
-C2YFA EE2E HME 6,000
301 Lt A2 1,000 0 1,000
09 HALAHIEA S 1,000 0 1,000
OE8 #0E 2= 82 1,000
—E2YFA 2H JIH, OH 2HES S 1,000
CRYEANGHAY 48,129 30,614 17,515
308 XXM SO0 A 48,129 30,614 17,515
10 B2 S0 3&HAE A 48,129 30,614 17,515
OIZNF2FEAN2EY fRES & 2Y 15,740
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